

## Logarithmic Concavity of Series in Gamma Ratios

S. I. Kalmykov<sup>1\*</sup> and D. B. Karp<sup>2\*\*</sup>

(Submitted by S.K. Vodop'yanov)

<sup>1</sup>University of Szeged, Aradi v. tere 1, Szeged 6720, Hungary

<sup>2</sup>Far Eastern Federal University, ul. Sukhanova 8, Vladivostok, 690950 Russia

Received December 9, 2013

**Abstract**—We find two-sided bounds and prove non-negativeness of Taylor coefficients for the Turán determinants of power series with coefficients involving the ratio of gamma-functions. We consider these series as functions of simultaneous shifts of the arguments of the gamma-functions located in the numerator and the denominator. The results are then applied to derive new inequalities for the Gauss hypergeometric function, the incomplete normalized beta-function and the generalized hypergeometric series. This communication continues the research of various authors who investigated logarithmic convexity and concavity of hypergeometric functions in parameters.

**DOI:** 10.3103/S1066369X14060073

**Keywords:** *gamma-function, beta-function, Turán inequalities, logarithmic concavity, generalized hypergeometric functions.*

We consider a class of power series

$$g_{a,c}(\mu; x) = \sum_{n=0}^{\infty} g_n \frac{\Gamma(a + \mu + n)}{\Gamma(c + \mu + n)} x^n, \quad (1)$$

where  $\{g_n\}_{n=0}^{\infty}$  is certain non-negative number sequence, and  $\Gamma(z)$  stands for the Euler gamma-function. The main question concerns restrictions on the sequence  $\{g_n\}_{n=0}^{\infty}$  and values  $a, c$  such that under these restrictions the difference of products

$$\psi_{a,c}(\mu, \nu; x) = g_{a,c}(\mu; x)g_{a,c}(\nu; x) - g_{a,c}(0; x)g_{a,c}(\mu + \nu; x) = \sum_{m=0}^{\infty} \psi_m x^m \quad (2)$$

has non-negative coefficients  $\psi_m$  at all powers of  $x$ . Evident consequence of such a non-negativity is logarithmic concavity of the function  $\mu \rightarrow g_{a,c}(\mu; x)$ . Here all series are formal, and we do not consider their convergence. Important examples of series (1) are hypergeometric series and their derivatives in parameters. In addition, results of the present paper will be illustrated by implied new inequalities for hypergeometric functions. Analogous questions for other power series are studied in [1–4]. For the proof of logarithmic concavity of hypergeometric functions with respect to their parameters for negative values of argument one can use integral representations from [5]. The bounds for ratios of gamma-functions are applied in [6] for the proof of inequalities for Bessel functions, and in [7] for bounding of norms for transformation operators in the Lebesgue spaces on a half-axis with power weights.

For formulation of results we need the following conventional definitions.

**Definition 1.** A non-negative sequence  $\{f_k\}_{k=0}^{\infty}$  is called logarithmically concave if its elements satisfy inequalities  $f_k^2 \geq f_{k-1}f_{k+1}$ ,  $k = 1, 2, 3, \dots$ . We say that it has no inner zeros if relation  $f_N = 0$  implies  $f_k = 0$  either for all  $0 \leq k \leq N$  or for all  $k \geq N$ .

\* E-mail: sergeykalmykov@inbox.ru.

\*\* E-mail: dmkrp@yandex.ru.

**Definition 2.** A function  $f(x)$  is called monotone on the interval  $(a, b)$  (maybe, unbounded) if  $f^{(k)}(x) \geq 0$  for all  $k = 0, 1, \dots$  and  $x \in (a, b)$ . It is called completely monotone if for the same values  $k$  and  $x$  the inequalities are valid

$$(-1)^k f^{(k)}(x) \geq 0.$$

**Definition 3.** A function  $f(x)$  is multiplicative convex on the interval  $(0, \infty)$  if it satisfies the condition

$$f(x^\lambda y^{1-\lambda}) \leq f^\lambda(x) f^{1-\lambda}(y)$$

for  $\lambda \in [0, 1]$  and  $x, y > 0$ .

The following theorem is proved in [4].

**Theorem 1.** *Let one of the following conditions be fulfilled:*

- a)  $c + 1 \geq a \geq c > 0$  and  $\{g_n\}_{n=0}^\infty$  is an arbitrary non-negative sequence,
- b)  $a > c + 1 > 1$  and  $\{g_n n!\}_{n=0}^\infty$  is non-negative log-concave sequence without inner zeros.

*Then  $\psi_{a,c}(\mu, \nu; x) \geq 0$  for all  $x, \mu \geq 0$  and  $\nu \in \mathbb{N}$ . If, in addition,  $\mu \geq \nu - 1$ , then the Taylor coefficients of the function  $\psi_{a,c}(\mu, \nu; x)$  are non-negative,  $\psi_m \geq 0$  for all  $m = 0, 1, \dots$ , and the function  $x \rightarrow \psi_{a,c}(\mu, \nu; x)$  is absolutely monotone and multiplicative convex on  $(0, \infty)$ .*

The aim of the present paper is to strengthen part b) of Theorem 1 by replacement of  $g_n n!$  by  $g_n$ , and to apply this strengthening for the proof of new inequalities for hypergeometric functions. The main result is

**Theorem 2.** *Assume that  $a > c + 1 > 1$  and  $\{g_n\}_{n=0}^\infty$  is non-negative log-concave sequence without inner zeros. Then  $\psi_{a,c}(\mu, \nu; x) \geq 0$  for any  $x, \mu \geq 0$  and  $\nu \in \mathbb{N}$ . If, in addition,  $\mu \geq \nu - 1$ , then the Taylor coefficients of the function  $\psi_{a,c}(\mu, \nu; x)$  are non-negative,  $\psi_m \geq 0$  for all  $m = 0, 1, \dots$ . Therefore, the function  $x \rightarrow \psi_{a,c}(\mu, \nu; x)$  is absolutely monotone and multiplicative convex on  $(0, \infty)$ .*

**Scheme of the proof.** According to lemmas 2 and 3 from [4] it suffices to prove the theorem for  $\nu = 1$ . For this meaning of  $\nu$  we obtain by immediate calculations

$$\psi_m = \frac{(a-c)\Gamma(a)\Gamma(a+\mu)}{\Gamma(c+1)\Gamma(c+\mu+1)} \sum_{k=0}^{\lfloor m/2 \rfloor} g_k g_{m-k} M_k,$$

where

$$M_k = \frac{(a)_k (a+\mu)_{m-k}}{(c+1)_k (c+1+\mu)_{m-k}} (m-2k+\mu) - \frac{(a)_{m-k} (a+\mu)_k}{(c+1)_{m-k} (c+1+\mu)_k} (m-2k-\mu)$$

for  $k < m/2$ , and

$$M_k = \frac{\mu (a)_k (a+\mu)_{m-k}}{(c+1)_k (c+1+\mu)_{m-k}}$$

for  $k = m/2$ . Here  $(a)_k = \Gamma(a+k)/\Gamma(a)$  is shifted factorial, or Pochhammer symbol. According to lemma 6 from [4], for the proof of non-negativity of coefficients  $\psi_m$  it suffices to show that

$$\sum_{0 \leq k \leq m/2} M_k \geq 0 \tag{3}$$

and the sequence  $M_0, M_1, \dots, M_{\lfloor m/2 \rfloor}$  changes sign at most once, i.e., it has the structure  $(- \dots - 00 \dots 00 + + \dots +)$ , where zero and minus signs may be missing.

The non-negativity of the sum is asserted by

**Lemma.** *The inequality*

$$\sum_{k=0}^m \frac{(a)_k (a + \mu)_{m-k}}{(b)_k (b + \mu)_{m-k}} (m - 2k + \mu) \geq 0 \quad (4)$$

is valid for all integer  $m \geq 1$  and all  $\mu \geq 0$  if  $b \geq a \geq 0$  or  $a \geq b \geq 1$ .

**Scheme of the proof of Lemma 14.** We introduce the notation  $u_k = (a)_k (a + \mu)_{m-k} / [(b)_k (b + \mu)_{m-k}]$ . If  $a = b$  or  $a = 0$ , then the assertion is obvious. For  $b > a > 0$  the function  $x \rightarrow (a + x)/(b + x)$  increases, and, consequently,  $u_k > u_{m-k}$  for all  $k < m - k$ . It remains to note that in this case

$$u_k(m - 2k + \mu) + u_{m-k}(2k - m + \mu) = (m - 2k)(u_k - u_{m-k}) + \mu(u_k + u_{m-k}) > 0$$

for all  $k \leq m - k$ . If  $a > b \geq 1$ , then by means of the Gosper algorithm ([8], [9], Chap. 5) we find anti-differences for values  $u_k(m - 2k + \mu)$ . One can check the result by immediate calculation

$$u_k(m - 2k + \mu) = \alpha_{k+1} - \alpha_k, \text{ where } \alpha_k = \frac{(b-1)(b-1+\mu)(a)_k(a+\mu)_{m+1-k}}{(a-b+1)(b-1)_k(b-1+\mu)_{m+1-k}}, \quad k = 0, 1, \dots, m+1.$$

Consequently,

$$\begin{aligned} \sum_{k=0}^m u_k(m - 2k + \mu) &= \sum_{k=0}^m (\alpha_{k+1} - \alpha_k) = \alpha_{m+1} - \alpha_0 \\ &= \frac{(b-1)(b-1+\mu)}{(a-b+1)} \left\{ \frac{(a)_{m+1}}{(b-1)_{m+1}} - \frac{(a+\mu)_{m+1}}{(b-1+\mu)_{m+1}} \right\} \geq 0. \end{aligned}$$

The latter inequality is valid, because the function  $x \rightarrow (a + x)/(b - 1 + x)$  decreases for  $x > 0$  by virtue of the assumption  $a > b \geq 1$ .  $\square$

It remains to note that the left-hand sides of inequalities (3) and (4) coincide, and the proof of unique change of sign by sequence  $M_0, M_1, \dots, M_{[m/2]}$  repeats the corresponding part of the proof of Theorem 1 (see [4], theorem 4). The multiplicative convexity follows from non-negativity of coefficients by virtue of the Hardy, Littlewood and Polya theorem ([10], proposition 2.3.3).

**Corollary 1.** Let assumptions of either Theorem 1 a) or Theorem 2 be fulfilled, and  $\nu \in \mathbb{N}$ ,  $\mu \geq \nu - 1$ . Then the function  $y \rightarrow \psi_{a,c}(\mu, \nu; 1/y)$  is completely monotone and logarithmically convex on  $(0, \infty)$ , and, consequently, there exists a non-negative measure  $\tau$  with a support in  $[0, \infty)$  such that

$$\psi_{a,c}(\mu, \nu; x) = \int_{[0, \infty)} e^{-t/x} d\tau(t).$$

**Scheme of the proof.** According to theorem 3 in [11], the sum of convergent series consisting of completely monotone functions is completely monotone function. Hence, the function  $y \rightarrow \psi_{a,c}(\mu, \nu; 1/y)$  is completely monotone, because the function  $1/y$  is completely monotone, and the coefficients are non-negative by virtue of Theorem 2. The integral representation follows from the classical Bernstein theorem ([12], theorem 1.4), and logarithmic convexity can be obtained, for instance, in accordance with [10] (see exercise 2.1(6)).

**Corollary 2.** Let assumptions either of Theorem 1 a) or of Theorem 2 be fulfilled. Then for any  $\nu \in \mathbb{N}$ ,  $\mu \geq \nu - 1$  and  $x \geq 0$  the inequality is valid

$$g_{a,c}(\mu; x)g_{a,c}(\nu; x) - g_{a,c}(0; x)g_{a,c}(\mu + \nu; x) \geq g_0^2 \left\{ \frac{\Gamma(a + \nu)\Gamma(a + \mu)}{\Gamma(c + \nu)\Gamma(c + \mu)} - \frac{\Gamma(a)\Gamma(a + \mu + \nu)}{\Gamma(c)\Gamma(c + \mu + \nu)} \right\}. \quad (5)$$

If  $a - c, \mu, \nu \neq 0$ , then the equality is attained at the point  $x = 0$ , only.

**Scheme of the proof.** The right-hand side of inequality (5) is free term in expansion of the function  $\psi_{a,c}(\mu, \nu; x)$  into series in powers of  $x$ . Then the inequality follows from non-negativity of coefficients at all positive powers of  $x$ .

**Corollary 3.** Let assumptions either of Theorem 1 a) or of Theorem 2 be fulfilled. Then

$$\frac{(a + \mu)_\nu (c)_\nu}{(c + \mu)_\nu (a)_\nu} \leq \frac{g_{a,c}(0; x) g_{a,c}(\mu + \nu; x)}{g_{a,c}(\nu; x) g_{a,c}(\mu; x)} \leq 1$$

for all  $\nu \in \mathbb{N}$ ,  $\mu \geq 0$  and  $x \geq 0$ .

**Scheme of the proof.** The upper bound is equivalent to the inequality  $\psi_{a,c}(\mu, \nu; x) \geq 0$ , which is a part of assertion of Theorem 2. The lower bound is a part of assertion of theorem 2 from [4] if we apply it to the function  $f_{a,c}(\mu; x) = \Gamma(c + \mu) g_{a,c}(\mu; x) / \Gamma(a + \mu)$ .

We combine Corollaries 2 and 3, and obtain two-sided bounds for the Turán determinant

$$\begin{aligned} g_0^2 \frac{\Gamma(a)^2}{\Gamma(c)^2} \left[ \frac{(a)_\nu^2}{(c)_\nu^2} - \frac{(a)_{2\nu}}{(c)_{2\nu}} \right] &\leq g_{a,c}(\nu; x)^2 - g_{a,c}(0; x) g_{a,c}(2\nu; x) \\ &\leq \frac{(c + \nu)_\nu (a)_\nu - (a + \nu)_\nu (c)_\nu}{(a)_\nu (c + \nu)_\nu} g_{a,c}(\nu; x)^2. \end{aligned} \quad (6)$$

These inequalities are valid for  $\nu \in \mathbb{N}$ ,  $a \geq c > 0$  under assumption that  $\{g_n\}_{n \geq 0}$  is non-negative sequence, which is also logarithmically concave and has no inner zeros for  $a > c + 1$ .

**Remark.** Earlier we proved the theorem (see [4], theorem 1) on properties of the series

$$\sum_{n=0}^{\infty} f_n \frac{(a + \mu)_n}{(c + \mu)_n} \frac{x^n}{n!},$$

which for  $c \geq a$  are analogous to the properties of the series  $g_{a,c}(\mu; x)$  from (1). In this connection the following question arises: Whether it is possible to remove factorial in the series keeping validity of its properties (and, consequently, strengthening theorem 1 from [4])? The answer is negative. One can verify immediately that

$$\sum_{k=0}^2 \left( \frac{(a + 1)_k (a + \mu)_{2-k}}{(c + 1)_k (c + \mu)_{2-k}} - \frac{(a)_k (a + \mu + 1)_{2-k}}{(c)_k (c + \mu + 1)_{2-k}} \right) < 0$$

for  $a = 1$ ,  $\mu = 1/2$ ,  $c = 20$ . Consequently, the coefficient at  $x^2$  in expansion of difference of products, which is analogous to (2), is negative in the present case. The coefficients at higher powers of  $x$  are negative, too.

**Example 1.** If we put in (1)  $g_n = (b)_n / n!$ , then

$$g_{a,c}(\mu; x) = \sum_{n=0}^{\infty} \frac{(b)_n}{n!} \frac{\Gamma(a + \mu + n)}{\Gamma(c + \mu + n)} x^n = \frac{\Gamma(a + \mu)}{\Gamma(c + \mu)} {}_2F_1(a + \mu, b; c + \mu; x),$$

where  ${}_2F_1$  is the Gauss hypergeometric function ([13], Chap. 2). One can verify easily that the sequence  $\{(b)_n / n!\}$  is logarithmically concave if and only if  $b \geq 1$  (the absence of inner zeros is evident for all  $b$ ). Consequently, if either  $c + 1 \geq a \geq c > 0$  and  $b > 0$  or  $a > c + 1 > 1$  and  $b \geq 1$ , then the function  $g_{a,c}(\mu; x)$  satisfies inequalities from Corollaries 2 and 3, and also inequality (6). In particular, for  $\nu = 1$  the latter inequality turns into

$$\frac{a}{c} ({}_2F_1(a + 1, b; c + 1; x))^2 - \frac{a + 1}{c + 1} {}_2F_1(a, b; c; x) {}_2F_1(a + 2, b; c + 2; x) \geq \frac{a - c}{c(c + 1)} \geq 0, \quad 0 \leq x < 1. \quad (7)$$

Note that for  $c \geq a$  and  $b > 0$  the function  $g_{a,c}(\mu; x)$  satisfies theorem 3 from [4] and all its corollaries.

**Example 2.** Normalized incomplete beta-function is defined by the formula

$$I_x(a, b) = \frac{1}{B(a, b)} \int_0^x t^{a-1} (1 - t)^{b-1} dt,$$

and is a function of distribution of random variable satisfying the law of beta-distribution. The beta-function in denominator equals  $\Gamma(a)\Gamma(b)/\Gamma(a+b)$ . We perform the change of variable  $t = ux$ , and obtain the relation

$$I_x(a, b) = \frac{\Gamma(a+b)}{\Gamma(a)\Gamma(b)} x^a \int_0^1 u^{a-1} (1-ux)^{b-1} du = \frac{\Gamma(a+b)x^a}{\Gamma(a+1)\Gamma(b)} {}_2F_1(1-b, a; a+1; x),$$

where the Euler representation ([13], theorem 2.2.1) is applied. Furthermore, we apply the Euler transformation ([13], theorem 2.2.5)

$${}_2F_1(\alpha, \beta; \gamma; x) = (1-x)^{\gamma-\alpha-\beta} {}_2F_1(\gamma-\alpha, \gamma-\beta; \gamma; x),$$

and obtain the representation

$$I_x(a, b) = \frac{\Gamma(a+b)x^a}{\Gamma(a+1)\Gamma(b)} (1-x)^b {}_2F_1(a+b, 1; a+1; x) = \frac{x^a(1-x)^b}{\Gamma(b)} \sum_{n=0}^{\infty} \frac{\Gamma(a+b+n)}{\Gamma(a+1+n)} x^n.$$

Since the factor at the sum is logarithmically neutral in parameter  $a$ , theorem 3 from [4] and Theorems 1 and 2 from the present paper imply the following proposition: If  $0 < b \leq 1$ , then the function  $a \rightarrow I_x(a, b)$  is logarithmically convex on  $(0, \infty)$  for arbitrarily fixed  $0 < x < 1$ ; if  $b > 1$ , then the function  $a \rightarrow I_x(a, b)$  satisfies inequalities from Corollaries 2 and 3, and also inequality (6) for arbitrarily fixed  $0 < x < 1$ . In another way we can show that in the second case the function  $a \rightarrow I_x(a, b)$  is logarithmically convex on  $(0, \infty)$ . Moreover, the function  $b \rightarrow I_x(a, b)$  is also logarithmically convex on  $(0, \infty)$  for any  $a > 0$  and  $0 < x < 1$ . Proof of these facts will be given in other publication.

**Example 3.** This example complements example 2 from [4]. Consider the Gauss fraction ([13], § 2.5)

$$r(x) = \frac{{}_2F_1(a+1, b; c+1; x)}{{}_2F_1(a, b; c; x)}.$$

We apply adjacency relation ([13], (2.5.3))

$$\frac{a+1}{c+1} {}_2F_1(a+2, b; c+2; x) = \frac{c+(a-b+1)x}{(c-b+1)x} {}_2F_1(a+1, b; c+1; x) - \frac{c}{(c-b+1)x} {}_2F_1(a, b; c; x).$$

We substitute this relation in inequality (7) and obtain

$$\frac{a}{c} ({}_2F_1(a+1, b; c+1; x))^2 \geq \frac{c+(a-b+1)x}{(c-b+1)x} {}_2F_1(a, b; c; x) {}_2F_1(a+1, b; c+1; x) - \frac{c({}_2F_1(a, b; c; x))^2}{(c-b+1)x}$$

or, after division by  $({}_2F_1(a, b; c; x))^2$ ,

$$\frac{a}{c} r(x)^2 - \frac{c+(a-b+1)x}{(c-b+1)x} r(x) + \frac{c}{(c-b+1)x} \geq 0.$$

We resolve this inequately separately for  $c-b+1 < 0$  and  $c-b+1 > 0$ , combine the result with inequalities from example 2 from [4], and obtain the table

**Table.**

	$c+1 < b$	$c+1 > b$
$c+1 \geq a \geq c > 0, b > 0$ or $a > c+1 > 1, b > 1$	$r(x) \geq \Lambda_{a,b,c}(x)$	$r(x) \leq \Lambda_{a,b,c}(x)$
$c \geq a > 0, b > 0$	$r(x) \leq \Lambda_{a,b,c}(x)$	$r(x) \geq \Lambda_{a,b,c}(x)$

$$\text{where } \Lambda_{a,b,c}(x) = \frac{c+(a-b+1)x - \sqrt{(c+(a-b+1)x)^2 - 4a(c-b+1)x}}{2(a/c)(c-b+1)x}.$$

**Example 4.** Intrinsic generalization of Example 1 is the function

$$g(\mu; x) = \frac{\Gamma(a_1 + \mu)}{\Gamma(c_1 + \mu)} {}_{q+1}F_q(a_1 + \mu, a_2, \dots, a_{q+1}; c_1 + \mu, c_2, \dots, c_q; x), \quad (8)$$

where  ${}_{q+1}F_q$  is generalized hypergeometric series ([13], (2.1.2)). Application of lemma 9 from [4] implies the following proposition: Let either  $c_1 + 1 \geq a_1 \geq c_1 > 0$  and  $a_2, \dots, a_{q+1}, c_2, \dots, c_q$  be any positive numbers, or  $a > c + 1 > 1$  and the inequalities are fulfilled

$$\frac{e_q(c_2, \dots, c_q, 1)}{e_q(a_2, \dots, a_{q+1})} \leq \frac{e_{q-1}(c_2, \dots, c_q, 1)}{e_{q-1}(a_2, \dots, a_{q+1})} \leq \dots \leq \frac{e_1(c_2, \dots, c_q, 1)}{e_1(a_2, \dots, a_{q+1})} \leq 1.$$

Then  $g(\mu; x)$  from (8) and constructed for it by formula (2) function  $\psi(\mu, \nu; x)$  satisfy assumptions of Theorem 2, Corollaries 1, 2, 3 and inequality (6). Here  $e_k(x_1, \dots, x_q)$  is  $k$ th elementary symmetric polynomial, i.e.,

$$e_0(x_1, \dots, x_q) = 1, \quad e_k(x_1, \dots, x_q) = \sum_{1 \leq j_1 < j_2 < \dots < j_k \leq q} x_{j_1} x_{j_2} \dots x_{j_k}, \quad k \geq 1.$$

#### ACKNOWLEDGMENTS

The research is supported by European Research Council Advanced Grant No. 267055 (the first author had a postdoctoral position at the Bolyai Institute, University of Szeged) and by Ministry of Science and Education of Russian Federation (project No. 1398 within the State assignment).

#### REFERENCES

1. Karp, D.B. and Sitnik, S.M. "Log-Convexity and Log-Concavity of Hypergeometric-Like Functions," J. Math. Anal. Appl. **364**, No. 2, 384–394 (2010).
2. Karp, D.B. "Turán Inequalities for Kummer Function in a Shift of Both Parameters," J. Math. Sci. (N. Y.) **178**, No. 2, 178–186 (2011).
3. Kalmykov, S.I. and Karp, D.B. "Log-Concavity for Series in Reciprocal Gamma Functions," Int. Transforms and Special Func. **24**, No. 11, 859–872 (2013).
4. Kalmykov, S.I. and Karp, D.B. "Log-Convexity and Log-Concavity for Series in Gamma Ratios and Applications," J. Math. Anal. Appl. **406**, 400–418 (2013).
5. Karp, D.B. and Sitnik, S.M. "Inequalities and Monotonicity of Ratios for Generalized Hypergeometric Function," J. Approxim. Theory **161**, 337–352 (2009).
6. Sitnik, S.M. "Inequalities for Bessel Functions," Dokl. Math. **51**, No. 1, 25–28 (1995).
7. Sitnik, S.M. "Factorization and Estimates of Norms in Weighted Lebesgue Spaces of Buschman–Erdelyi Operators," Soviet Math. Dokl. **44**, No. 2, 641–646 (1991).
8. Gosper, R.W. "Decision Procedures for Indefinite Hypergeometric Summation," Proc. Nat. Acad. Sci. USA **75**, 40–42 (1978).
9. Petkovšek, M., Wilf, H.S., and Zeilberger, D. *A = B* (A. K. Peters, Wellesley, MA, 1996).
10. Niculescu, C.P. and Persson, L.-E. *Convex Functions and Their Applications. A Contemporary Approach* (Springer Science + Business Media, Inc., 2006).
11. Miller, K.S. and Samko, S. "Completely Monotonic Functions," Integr. Transf. and Spec. Funct. **12**, No. 4, 389–402 (2001).
12. Schilling, R.L., Song, R., and Vondraček, S. *Bernstein Functions. Theory and Applications*, Studies in Mathematics (Walter de Gruyter, 2010), Vol. 37.
13. Andrews, G.E., Askey, R., and Roy, R. *Special Functions* (Cambridge University Press, 1999).

*Translated by B. A. Kats*